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2.2 (m,n) ��
����������
�����������! �"$#�%'&�(�)+*-,�,�.$/10�2�3�4

K
��57618$9�* m � n ���!��� ((m, n) ���;:

m × n ����6�/1"<) )A =








a11 · · · a1n

... aij

...

am1 · · · amn









61>?,�)@��� A = (aij)
6�/1>�AB*�C�D�D�E�,���F�G�H�I�.�J�9�*

(m, n) ���;K�L$��M�N = M (m, n; K) .�O�8P* M (m, n; K) ��4RQ�6!S�T�U�V�W�G!X���Y$��Z;[.�\�9�*

A =









a11 · · · a1n

... aij

...

am1 · · · amn









, B =









b11 · · · b1n

... bij

...

bm1 · · · bmn









∈ M (m, n; K) : α ∈ K
�^]�_`Q�:�SaT

U�V�W =
A + B =









a11 + b11 · · · a1n + b1n

... aij + bij

...

am1 + bm1 · · · amn + bmn









αA =









αa11 · · · αa1n

... αaij

...

αam1 · · · αamn









.�Z�[�8�9�*�Q�6�S�T�U�V�W�4 (aij)
��b�c�.�>�A�6

(aij) + (bij) = (aij + bij), α(aij) = (αaij)

61>$d�9�*-6�A�� m = n ��e M (n; K) 6�/f>�\�:'g���5 = n h ( i�j ) k�l 61m<)n* K G�o'p�qr 6R\�4�s�t�_�#�: M (n), M (m, n) 61>�A1u�N�/�J�9�*,�,�.�������v��� �"�#�w�x�_�#�y�,�)+*

A =









a11 · · · a1n

... aij

...

am1 · · · amn









∈ M (m, n ; K), B =









b11 · · · b1p

... bij

...

bn1 · · · bnp









∈ M (n, p ; K) ��]7_
g��Rv AB = (cij)

4
cij =

n
∑

s=1

aisbsj = ai1b1j + · · ·+ ainbnj

61Z�[�z1D�#�"�{�*�Z�[�q�p13�9�(�)1��v AB 4 (m, p) ����� r 9�*�������v�4�K�L =^|�} #�~��� .�J�9!*P��� 2 ���;��=R� "'#��R��dR��G'�����;.�\�9�($)1� r 9R� = 1  ��$�1�76�_R#�07��<����� .���_1" (� x���� 2.4 ��� )*
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���$���
2.2 [ ������������x ] X = �����?(1*

(1)













0 1 2 3

1 2 3 4

2 3 4 5

3 4 5 6

























1 0 1 0

0 1 0 1

1 0 1 0

0 1 0 1













(2)

(

1 2 3

3 2 1

)







1 2

2 4

2 1







(3)







1 2

2 4

2 1







(

1 2 3

3 2 1

)

,�,^.��¡ �� 1 ��]�¢�8-9�Ia£����-�� a"�#^¤�D�#Py�A¥*�¦$§`¨�©�T�V-��ª�«­¬�6P®�E�D­9�bc =
δij =

{

1 (i = j)

0 (i 6= j)

.�Z�[�_�{�e�: n X���� En = En = (δij)
(4) 61Z�[�8�9�61X�G�2�¯�8�9R*

°��
2.5 (m, n) ��� A ��]�_

EmA = AEn = A

G�2�¯�8�9�*���� n X�±�F���� A ��]�_�#�4
EnA = AEn = A

G�2�¯�8�9�*

² � 2.5 ( � I�£���� E 4��� ��^v���y�d�9 1 ��³�´ =�µ {^8���G�3�9�*��� �� 0 ��]�¢�8­9��GR¶���� O( 8�·�#���2�3�G 0 �R��� ) .�J�9�*
���¡�R�

2.3
���¡�Rv-6f�P '�Rv¡�R¸�)�¹¡4!º$\¡Afm¼»�# 2  $JP9R*¾½� '4À¿�ÁPÂ�Ã (AB = BA)G�2�¯�_ r "���: 2  �4�¶�Ä�Å (A 6= O,B 6= O . AB = O 6 r 9�����:�{�Æ�_ O 4R¶���� ) ��ÇÈ .�J�9�* 4 X��������� �"�#�g�D$É�D�Ê = J�Ë�(1*���$���

2.4 2 Ì�Í�Î�Ï�Ð�Ñ�Ò�Ó�Ô�Õ ���
(1)
² � 2.5 =�Ö �

(2) �a�7�^v-��×-_`3'ØaÂ¡Ã (A(B + C) = AB + AC,(A + B)C = AC + BC) 6`Ù'N¡ÂaÃ
((AB)C = A(BC)) G�2�¯�8�9�,�6 =�Ö ��*

(4) ÚÜÛ n ÝßÞ!àâá!ãåäÜæ!ç E èåéåê;ëíì
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(3) ��� A = (aij)
��]�_ B = (bij) = bij = aji

.�Z�î�{�e!: B = A ��ï�ð�����61"�" B = tA61O�8P*�,���e t(AB) = tBtA =�Ö ��*

(4) n X;�ñ� A =



















0 1 0 · · · 0

0 0 1 · · · 0
...

...

0 · · · 0 1

0 · · · 0



















�R]7_ An = O(¶���� ) G!2�¯�8¡9!� =ÀÖ � (n = 3, 4

ò .�ó���_�#�ô�( )*

(5) n X¡�a� A =



















0 0 · · · 0 1

0 0 · · · 1 0
...

...

0 1 · · · 0

1 · · · 0



















�^]�_ An = �a�¡��(`* (n = 2, 3, 4
ò .Póa��_^#

ô�( )*
(6) i >= j ��e aij = 0 .�J�9�(�) r n X���� A = (aij)

��]�_ An = O(¶���� ) G!2�¯�8�9�� =
Ö � (n = 3, 4

ò .Ró���_�#�ô�( )*

õ�ö
2.6 n X�±�F���� A = (aij)

��]�_ n X�±�F���� X G�Ç È _R#
AX = En XA = En

6 r 9�6�\ X = A ��÷ k�l (inverse matrix) 61"<)ø*�ù�{�,���6�\ A 4�ú�÷ (invertible) ù�{�4
i�û (non–singular) .�J�9�61"<)ø*
3 X�������u�N�6^ü�Y�� AX = En

ù�{�4 XA = En
����F�G�2a¯�8�D�E X G�ý�����.�J�9��­G3�q�9�G�:�,�������4�þ�.�����ÿ�����.��$o�8�9�*

°��
2.7 A,B G�±�Ã r ������6�\ AB /1±�Ã�.�: (AB)−1 = B−1A−1 G�2�¯�8�9�*

���$���
2.5

X�����������G�±�Ã�.�J�9�{�î���������3�	�
 =�� î�(1*

A =













a 1 x y

0 b 1 z

0 0 c 1

0 0 0 d













ù�{Rý���� =�� î�(1*���$���
2.6 A G�±;Ã���6�\ tA /1±�Ã�.�J � : (tA)−1 = t(A−1) =�Ö ��*

õ�ö
2.8 � ¦�
ø«���� K

n q�p � ¦�
n«���� K
m � ����� f G�X�� 2  ������ =�� {�8�6�\�������

(linear map) 61"<)ø*

32



(1)  �! � u, v ∈ K
n ��]�_ f(u + v) = f(u) + f(v)

(2)  �! � v ∈ K
n 6  �! � α ∈ K

��]�_ f(αv) = αf(v)
��ÿ � ��4 3 X�5 � ¦�
n«���u�N�61K�A�ü } .�J�9�*
A ∈ M (m, n ; K ) G�"�&�p1D�{;e K

n q�p
K

m � ����� fA =
fA(x) = Ax

.�Z�[�8�9�6 fA
4�#�$������ r 9�*

ý$�
K

n q�p
K

m � ��#�$�����4�����.�O�%�.�\�9�*� �ù � X�G�2 � ¯� �*
õ�&

2.9 K
n q�p

K
m � ��#�$���� f ��]�_ (m, n) ��� A G�Ç È _�# f(x) = Ax

6 r 9�*

')(
ei = (δij)

6fy7Af* f(ei)
4

K
m � � ¦*
n« r ��.$,1D = f(ei) =













a1i

a2i

...

ami













(i = 1, . . . , n) :

A = (aij)
61ð�A *

x =









x1

...

xn









��]�_
x = x1e1 + · · ·+ xnen

r ��.

f(x) = f(x1e1 + · · ·+ xnen)

= x1f(e1) + · · ·+ xnf(en)

= x1













a11

a21

...

am1













+ · · ·+ xn













a1n

a2n

...

amn













= Ax

Z�+ 2.9 ����� A ��� = #�$���� f = O�%�8�9�����6�®�, (5) *�  � ¦�
n«�����6�4�-�p r "�uN��.#�$�������O�%��� �"�#�/1þ�.�/<)ø*
���­��v�60������v (N�2�×^  ) �� �"�#�4�X�G�2�¯a8�9�*�61"<)1q���4�,���Z�+�G�2�¯a8�9�()1�R������v = Z�[�_�{�1�d�.�J�9�*

õ�&
2.10 f = K

n q�p
K

m � ��#�$�����: g = K
p q�p

K
n � ��#�$�����618�9�:�Z�+ 2.9 (� ��� f = O�%�8'9���� = A :���� g = O�%�8$9���� = B 618$9�60��� fg(N¡2���� ) = O�%�8'9���$4 AB .�J�9�*

���$���
2.7

Z�+ 2.10 = ��o���(1*
(5)A è f 243654798;:4<4=4>@?4A A è;B�C6D!è é4E4Fåì

33


